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Organelles
	Organelle


	Function
	Found in plant, animal or BOTH cells?

	Nucleus


	
	

	Ribosomes


	
	

	Mitochondria


	
	

	Chloroplast


	
	

	Cell Membrane


	
	

	Cell Wall
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Transport
Cell membrane - 
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Practice questions
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According to the diagram above, which direction would glucose move?    This cell membrane is permeable to everything.
A)  Glucose would diffuse into the cell via diffusion.

B)  Glucose would diffuse out of the cell via diffusion
C)  Glucose would dissolve.




D)  Glucose would combine with carbon dioxide
Why is diffusion a type of passive transport?










    A)  It moves materials across a cell membrane


B)  It does not require any of the cell’s energy.

    C)  It does not need activation by an enzyme.


D)  It continues until equilibrium is reached.
You are conducting osmosis experiments with a test tube of human cells in solution.  You add a teaspoon of table salt to the test tube.  According to the principles of osmosis, what can you predict will happen to the cells?



A)    They will swell and burst.




B)   They will not be affected.



C)    They will shrink and shrivel.




D)   They will undergo rapid mitosis.
Photosynthesis 
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Aerobic & anaerobic respiration

Aerobic respiration - 








Anaerobic respiration - 









Two types – 

Photosynthesis & Cell respiration experiments
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Chromosomes
Replicated (doubled) during this phase - 
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Attach to spindle fibers at the 
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Telophase




cytokinesis

Mitosis vs. meiosis
There are 2 types of cells
_______ cells and ______ cells (also called ________________)

Human body cells have  _______ chromosomes


( ______________ )

Human body cells are called  __________________

(____ of every chromosome)










          1 from ______ & 1 from ______

Human sex cells have _______ chromosomes


(______& __________ cells)

Human sex cells are called __________________


(_____ of every chromosome)
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_________________ makes _________ cells

You start with ____ cell and end with _____
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The offspring are  ___________________
Asexual vs. sexual reproduction
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Non-mendelian inheritance
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Dna,rna & protein synthesis
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If that mutation causes you to be better fit to your environment, you will survive and pass that mutation to your offspring
Speciation - 










Evidence for evolution

1.  fossils - 
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4.  biochemical evidence – 

antibiotic resistance in bacteria

































Classification
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Six kingdoms of life

Six kingdoms of life

Viruses - 





























Archaebacteria - 








































Eubacteria - 












































Protists - 













































Fungi - 












































Plants - 












































Vascular vs. non-vascular

gymnosperm vs. angiosperm
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Animal behavior
Instinct/Innate behavior - 
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General vocabulary
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Symbiotic relationships
	Mutualism
	Commensalism



	Parasitism
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Population growth
Exponential growth - 
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Nutrient cycles
Water cycle - 
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According to the diagram to the left, which statement best describes the general direction of diffusion across the membrane of this cell?  This cell membrane is permeable to all materials.


	A)   Glucose would diffuse into the cell.


	B)   Protein would diffuse out of the cell.


	C)   Carbon dioxide would diffuse out of the cell.


	D)   Oxygen would diffuse into the cell.
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_________________ makes ________ cells


You start with____ cell and end with _____


																																																																													


The offspring are ____________________


__________________to the parent
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